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Mathematischer Vorkurs NAT-ING

9. Übungsblatt
Voraussetzungen:

Kurzlösungen Kapitel 9 - Vorkurs für Ingenieure

Aufgabe 1 (Beträge und Betragsungleichungen)

a) i) |x− 3| =

x− 3, falls x− 3 ≥ 0

−(x− 3), falls x− 3 < 0
=

x− 3, falls x ≥ 3

−x+ 3, falls x < 3

ii) | − 6 + x| =

−6 + x, falls x ≥ 6

6− x, falls x < 6

iii) |3x− 7| =

3x− 7, falls x ≥ 7
3

−3x+ 7, falls x < 7
3

iv) |x2 + 4x+ 3| =

x2 + 4x+ 3 , x ∈ (−∞,−3] ∪ [−1,∞)

−(x2 + 4x+ 3) , x ∈ (−3,−1)

b) i) L = {4; 6}

ii) L = {2}

iii) L = {}

iv) L = {−6; 1}

v) L = {2}

vi) L = {x ∈ R |x ≤ −2} = (−∞,−2]

vii) L = {−8; 1}


